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General Instructions:
1. All the questions are compulsory.
2. Please write down the Serial Number of the question before attempting
it.
3. The question paper consists of 22 questions and it is divided into four
sections A, B, C and D.
Section A comprises of 5 questions carrying 1 mark each.
Section B comprises of 9 questions carrying 2 marks each.
Section C comprises of 5 questions carrying 3 marks each.
Section D comprises of 3 questions carrying 4 marks each.
There is no overall choice. However, an internal choice has been
provided in 1 question of 3 marks and 1 question of 4 marks each. You
have to attempt only one of the alternatives in all such questions.
9. Use of calculator is not permitted.

o AN

Wus A (Section A)

1. 240 I BT 3 fHoAU™ | U ST BT | ®
Find the ratio of 240 g to 3 Kg.
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2. U AT BT URAT ST Hioiw Srge) arg iR dlsis Hae: 5 9
3R 4 9 € ®
Find the perimeter of a rectangle whose length and breadth is 5 cm
and 4 cm respectively.

7 N

3. 5 O} TS YopA BT PO AT BT | @®
Find the product of % and it’s reciprocal.

4. 512 BT 8 B T B BT § I DI | D
Express 512 as a power of 8.

5. 97 11 3y forfaw: ®

“IIsidh 7-3x H x BT ONH 3 51"
Write True or False:
“The coefficient of x in the expression 7 — 3x is 3.”

Wus d (Section B)
6. Raw o= vRT: @
(i) < XErgs gaiTg 8l © afe .
(i) T BT FET™E B9 § A
Fill in the blanks:
(i) Two line segments are congruent if
(ii) Two angles are congruent if

7.WWW§HW,HQW14%§|(H=%W) @
Find the perimeter of a semicircle, if diameter is 14 cm. (Take [T = g )
8. &1 BT @

Solve:
(i) 0.32+2.88

(ii) §+ 1%
9. = aﬂﬁm : @
Match the following:
ufad — | ufea — 1
Column -1 Column -1l
(a) 3*x3° (i) 3°
(b) (6°)* (i) 6
(ii) 3°
(iv) 6%

7
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10. 60 ST B Th BT F 24 TPl & 3R B b & | Iff sl
B S ude & T oiefehal &) qHdIH @Ml Ube © | e wHe &
aTer St T RIS ST BT | ®
In a class of 60 students, there are 24 girls and rest are boys. All the
boys like sweets while girls like salty food. Find the percentage of
students who like sweets.

11. IE AXYZ 3R APQR # XY=QR 3R Yz=RP | afe SAS <HaIT=aear
gftesr | AXYZ =AQRP ®IfUd &1 &, ar o o &R @ @
AMMITIHAT 27 @

In AXYZ and APQR, XY=QR and YZ=RP. If it is to be established by SAS
congruence rule that AXYZ =AQRP, then what addition information is
needed?

12. fFfaRed THiaR agds @1 89w S B @

Find the area of the following parallelogram:

5?3.4cm > R

3.6cm

mh

P T Q
13. @

(i) 32700 @I 99® JU H Had BN |
Express 32700 in standard form.

(i) 835704 & gATRT ¥9 ¥ gy |
Write 835704 in expanded form.

14. ¥ ucl & gl § § -1 T GEE UG I & @
Identify the pair of like terms in the following pairs of terms:
(a) —3ab, 4ba
(b) 7x,7y
(c) 8x%y, —2xy’
(d) 30yz, — 29yz
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WUs ¥ (Section C)
15. & 3T ART &1 To SHIGY dIfds AR=5 §¥I, RT=4 T 3R TA=3
[ B ®

Construct a triangle ART such that AR=5 cm, RT =4 cm and TA=3 cm.

16. >,< AT =PI YA Hd R = 9RT: ©)
Fill in the blanks using >, < or =:
. 7 8
(i) 3 [] =
i) 0.03[] 0.3
(iii) 3§|:| 13—1

17. <@ Yeqf @1 /= arfedr & )1 &9 @ fog Ry gy dioid
STl BT TART PN R e ¥R ®

Using given algebraic expressions, fill in the blanks to complete the
following table of number patterns:
CINIPRC SED dIfiT &St &1 A9 (Value of Algebraic
Algebraic Expression)
Expressions n=0 n=1 n=
n’+1 1 2 5
n’-1

2

3AUdT OR
R DIfoTg:
Simplify :
(i) 7x-8y+9z+3x+7y-8z
(i) (36x* - 9m*+n?) - (9x*+8m*+n?)

18. U®h IATHR UTdh 100 HT a1 IR 70 I AT & | 9B X IR TRB
6 HI AT IRAT ST & | IR BT AFBA ST DI | ®
A rectangular park is 100 m long and 70 m wide. A path of 6 m wide
runs along inside it. Find the area of the path.
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19. @ TE agfa # 1 el & H wEl w1 A" A T g S
HITY & M1 By Fald 8 a1 TEiedRo At AR | 3
In the given figures, the measurement of some parts of two triangles
are given. Examine whether these two triangles are congruent or not?
Also, give reason.

A D
70°
6cm
70°
500
B 6 cm C E F

Yus § (Section D)
20. AMNP @ o1 PIY, SdT £ N FA®IT @ don T & &
MN = 6 94 3k NP = 8 9 B | ®
Construct AMNP, right angled at N and given that MN = 6 cm and

NP =8 cm.

21. 3T P T <effds T 9000 H IEH WX 10 wREd & B B E |
A UE celifdor fhaw § @ieT oar? @
Amit sells a Television for X 9000 at a loss of 10%. What was the price
at which he bought it?

31dT OR
RTHT 7 G | X 8000 BT TH BT 5 UlRrd difid &% A SATERY &5
R foraT| 2 9 & UwE I B fhas 9 9 feri?
Reshma takes a loan of X 8000 at 5% per year as rate of simple interest
from Rakhi. How much money will Rakhi get back after 2 years?

22. M 7 5 fHAw™ 300 IM W9 IR 3 fHAWE 250 M I TS |
AT 7 4 fHAU™ 800 UM WX AR 4 fHARM 150 TH Dol WY |
o oY et WS SR Fober? @
Ramu bought 5 Kg 300 g apples and 3 Kg 250 g mangoes. Sunita
bought 4 Kg 800 g oranges and 4 Kg 150 g bananas. Who bought more
fruits and how much?
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